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Number of o and © bonds in ethylene respectively
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OH o4

Find Sum of total number of O_al_tgm(s) in A& ?is:
\

@ 3 6
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Cu e WA
How many of the following can be prepared by kandmeyer reaction

Cu U (MY
® K % L

5000
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Neek (Port -2)

Which of the following is the correct product for the given reaction

N E
& N\ Y /NQ/\

@/OQ/\ ® N\\
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Correct order of degEie=n

(P) Diethyl ether/\ /\ |
(Q) n-butanol /\/0\ H @>®
(R) n-butane _—~" g

(S) ethylmethyl ketone @
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Neet (& f@
Arrange the following carbocations in increasing order of their stability
& ® @ >
) (CH3);C Tl 1) (CH;), CH iii) CH, V) CH; —CH,
51% 'bo(', 2 Y

@ <1<V <l
H<l<IV<I
@ H<I<Ill<IV
MGVGRI
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The heat of combustion of solid benzoic acid at constant volume is —321.30 kJ
at 27°C. The heat of combustion at constant pressure is (-321.30 - x) kJ. Find
the value of x. (Round off to nearest integer)

J ((H5CO0H +120, — $(0, + 3HO
© (9) (9 (%)
AMe=(n) _(h,) = 3-
J r)J ( K)} 7 '_z’:j
= -'/7__

U314x 300 = W= @31yx s

b00

AV EWNE amJ RT

= -32]'3 -

il
2
| V06 R

'
————
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Consider the reaction: Fe,05(s) + 3C0O(g) = 2Fe(s) + 3C0O,(g)

Which of the following will not affect the equilibrium state: @_J
og 8 op o 4

(I)%ddltlon of Fe,05 (S) () Addition of CO,
(In) D€creasing mass of Fe,0; () (IV) Removal of CO (\N° ‘-ﬂ?&d—)
@ (1) and (IVv)

(|) and (V)

\g(l) and (Il)

' All will affect the equilibrium
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An ideal gas undergoes a cyclic process given in the P-V curve. Find work

done by gas in the given cyclic process.

320

P(kP,)

80
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Which postulate of Dalton’s theory is wrong.

@ Matter consist of indivisible atoms/

| atoms of a given element have identical propertig§ but different masses

<

@ Compounds are formed when atomsQf different elements combines in a
fixed ratio

@ Chemical reaction involve reorganisation of atoms /
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In which of the following compounds Mn has the W’?

\%Mn@f—-) Mn = @

MNO, —_) Mp = +‘1

@ MNO,* — ™M 44

@ mn,0;, — pan =>
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An aqueous solution contains 0.2 M glucose and 0.05 M NaCl if osmotic
pressure of this solution is x (in bar) at 300 K temperature. Then calculate the
value of 2x. (Use R = 0.083 L-bar/K-mol)™~" e CRT

\ leusg—* N c,\z.chbl-:. — 02 M

T= 300 \&
NoC| = Ehc“nw&. —'°<|°°\/~ a'\““'\“"“") R=008 2

|
® | Na(| — Na' LA Bral Cone =

2K 0 I 005 el
005 0%

206% 0682 —
| Tl (me— 02 -\-N=®

)
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The molar conductivities of a divalent cation (M2*) and monovalent anion (A-)
are 57 S cm™' mol™ and 73 S cm™ mol~ respectively. Then find the total molar
conductivity shown by their compound in S cm™ mol~.

MZ‘!’ A!.- \// %sz A_\//
) J
(1) co W
—~ MYt AT 53+ 2E3

L» 53433 130 Stw'ml = S5iP 4l Q6%
S(m'ml‘l
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Identify the change occurring in oxidation state of Mn in cell reaction of dry

cell of clock during its use

@ +35+4 X AM&“—)MW = HZ" — 204 20"
n

xR Tt o

7 @ @n()@ﬂh NY,
0c-3
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Assertion: Enthalpy of neutralization of acid & base is =57.1 kJ/mol.
Reason: H*(aq) + OH (aq) — H,0(aq); + 57.1 kJ

Assertion and reason both are correct and reason is correct explanation
of assertion.

Assertion and reason both are correct and reason IS not correct
explanation of assertion.

Assertion is correct but reason is not correct.

Assertion is not correct but reason is correct.

00 O
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Field Strength comparison of Ligands.

CN-, F, Br, I, Hy0, NH; ) = . O
U C oo el <F

CN- > NHy > HyO > F~ > Br> | Ji N
(B) CN->H,0>NH» F> 17> Br X N4
(©) H,0>CN > NH; > F > B I /\/

= . ay

@ CN™>NH;>1">H,0>F > Br- >\
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Which metal shows highest and maximum number of oxidation state?

Mn —= + F SC — ’Z’?’)
63) Fe —= +C

© co —+¢
@ o —+¢
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Identify the correct Lewis dot structure of NO,™.

& B-R-3) 1@2'"/\75@
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" /
Which of the following complex is least paramagnetic. &

@ orrn o d _
42 L-———y MZO — OFL
® 0 —>d
‘ C
@ (o0 —
® co)l —s o
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Statement-I: As we move down the group in Boron family the stability of +1
oxidation state is decreases.

Statement-Il: Atomic radii of Ga is greater than Al.

@ Both statement are correct

Both statement are incorrect

@ Statement-1 is correct while statement-Il is incorrect

@ Statement-l is incorrect while statement-ll is correct
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If the number of neutrons in the most abundant isotope of boron is “x_and its

highest oxidation state in unsaturated compounds is ‘y’, then find the value of

(x +y). .

ﬂ'\" r
© - H =20

@g }’-::)3
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Which of the following cation will give green colour in Borax bead test?

A Iron OL Q
\gB)/Cobalt mﬂ C
fe @
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Which of the following are correct statement(s) for given species.
0?7, F~, Na*, Mg?*
(a) 0% is largest in size e (b) Mg?*is smallest in size v

(c) All have same effective nuclear charge (d) All are isoelectronic

®) (a). (b) and (c)

@/ (a), (b) and (d)

© (). (c)and (d)
® (a). (c) and (q)
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The area enclosed by curves y = x? -5xand y = 7x - x? is-

-G 2= o Jr-x= 0

— T
‘)L__D, S X.__ SX-::‘]X——*k
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dy A 3 m\ .
If axt 2y =sinZ2x and y(0) = 2 then y (E) is equal to

Seaxs".“ bxdx = €aX[a Sinbx- b(oslﬁ]

i ar+b* e

R X -
ST R G

v (Q )= 61\'\[@'\'\\*~ Cost) 4 ¢

@) None

3
A

=1 (D
q.

e
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1 | |

. 1 1 1
Given that§+§+...+99.mo=nand ﬁ+ﬁ+ﬁ+\/§+...+ _99+\/100—m, find
(m, n)

—' - 2 . VS @'“ + (\l%-M" +<J\oosﬁ9§
\-2 - = T T

Q._
).
2-3 2.2 1*% m_:%




n @
then value of 99 is | 4
g'(7)
S 4
K +X -‘u—f—k‘;x-\r\—:"‘
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" ax’

Let f(x) = x*> { x) +x3 + 3x + 1 anc

2> : .

" flat) 9
X

S 2 _

DA +@2-¥>2§ A= §

\
S A= syt it \
/
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C0§9 Z\—}_&/ ’1
Suppose 0 € [O, E] is a solution of 4cos0 — 3sin6 = 1, then cos0 is equal to
G CoS® - \» NN
(> (3\/6 Q —Co gt e)
| 6Cog®-NWoso Y\ = %. %6*';**1\:
(8) (3\/6 +2) =3‘\*“°:A
- 4 RS (o 5-RC0ee-3=O A

Q@ o G

(3\/5 - ) Coss = RN 64100 =k {gee

>N

® SO gEaf=1alh

(3\/— ¥ 2) \ ‘ S

SQ
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Cose-: 4 +CJ¢ ((Je— 1)

—

25 éJé—ﬂj
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. 2x(1+sinx)
J—n (1+cos?x)
@ =
® zn

| 14
(c) T
®:

2

w

dx is equal to
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A \
- \ +Cosor - 1+
C K |
(osx=L -, -
. —a2x | Fom 't
| S dr e 1—__ i
YT-2x Sj& 1 =2F [ 1\/‘1,(.1/\‘)
\ 4+ g
| T=1
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-sin3x+asinx—Bcos3x

If the function f(x) = , X € R, is continuous at x = 0, then

23
f(0) is g
() = Sinax -3 Sinx
I Y »
@/-4 3 C?s'svk-\m( (s X PSS NG
| ~ .
I
@ -2 (43 d
A=-3
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w4 136 inx -
3smx+5cosx X Is equal to §i!\X: A (ZSMX + 5(59)()

() 3 — 1010ge(2\/_) + log.5 4 8(3 (05%-5 S""O
IA-5%=
(B) 3m-—25log,2 + 10l0g,5 R S "% 4
©) 3n-3010g.2 + 2010ge5)( A= “3-%
2(43& \"S E'.:
@) 3w — 50logZ + 20log,5 / ‘;B“ -5 hT3,
3% 3F
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NS

%

) t © o \ Y4
S' '7—(> ('2) 3Cos%-SSM) o fa =2

39h¥+§(ns>k

\ 2 CV\\ -20 9\@&)\:\;@&1%

LR -2 u[ @f‘r‘—\ ﬁ«‘?
QAN -0 OJ\QQ [ETY X
3A-2§) [ETEY 2
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NS

w//4 ”u\
The value of f pr- equals to —AX
L0 | - g [ +an(7-)
(A) —<+1n 2 (§K’P) 2 ‘l
° y,—LMH) 7= S% 4x
m |4 (11X
(B) +In2 0 ('!Hm‘x)
.3
() —+—ln2 T4 S\,\‘(\*mﬂu A
A InSecx \(\
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Find term independent of x in (1 — x + 2x*
q q_)‘i-‘h ( J
q. S ¢ ‘h@—x 1 X3
@ Cﬁ 3 13-2%-3h
X xv?~ sh

Ang




7D N
JEE MAIN 2024 = -«» PAPER DISCUSSION

Let f(x) = sin2x + (.‘_-i-?t(xz +x),X € [0,%’], then
Statement-I : f(x) is increasing in (0, &t/ 2)7./‘. 23 f '()() ;@

Statement-II : f’(x) is decreasing in (0, / 2)('. 0,2 .
- [//‘1 ',Q-}_‘}'(zx-}l)
R

@ Statement-I and Statement-II both are correct

£'o0= -1

o Statement-I and Statement-II both are incorrect . )
) 0
@Statement-l is correct and Statement-II is wrong

@ Statement-I incorrect and Statement-Il is correct
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If the system 7') - (3))=16+3)=47
11x+y+Az = -5 N
2x+3y+5z=3 A'A"A"/A'S"u
8x — 19y — 39z = p has infinite solutions, then fin A — ) )\ M
A A X 602)\:"(.21)-}"@
2 —\3-39 24
B 61A— ~ |
|\ (3\?3\3#)5) v (doary) A= -2
1
—w\(\z 224)= 1y
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@: 13{’ ("2::2’ Y, £(1) = 1, find the value of 2f(2) + 3f(3),
"\ .

\

A 2_1 =\f ®
AN CaSRA) €b> Sj(' SENTY

(@208 —AE =f W ~ ‘X

— 0 ) i
£ A= XEF ) 2 O+ _\_':JASI«AfM*\
W e
InF (=2 MU\*\/X* A%
Um \I\))":\&-\/\F(X\ X % )
X\.
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Find the value of 44" (adj44)" 1(adj4B)(ad]AB) i, |f|,4|@|3| 3 (?>

(Given A is 3 x 3 matrix)

= | A&AA\ = A\

\) —.
1A)
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|x||x - 2| 4]x - 1| - 6 = 0 and sum of real solution of x.

____‘\__4__;..

1 C= e
,X(’(’z)) §lx-;\+6 X=2x=-S(xN+6

) xl,z)(’.; -cX ¥ )
A=2X) = S(x-DH+ 6 \ X4 3%-1! =°£/

Xl- 2A=SM-S\ { _,Xz_h_x: g()(—-l)-!—é

Ry ’f:\ B —X'=2m =

VX -st‘\ \= !

—Yhax=-s(x) & &

— = |




Let set S =
form of

G L

randomly chosen quadratic equation have e equal roots.
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. 8} and there are multiple quadratic equation of the
0 where a, b, ¢ € S. Find the probability such that a

Total= g
=4 ac=4 Ca,)[(,9]6)
L‘-’—G ac=9 (3/3)
=R  ac=\¢ (W) /&
e

'S /64\
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f:A->B,A={1,23, ...,8}, B={1, 2, ..., 8}, find the number of one-one
function from A to B such that f(1) + f(3) = 14.

F=g66=-¢ (6)
SO=9,f0=6 €

() {49
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x-3 2y-1 4-z _x-3 1-2y z-4

If lines % T e T & £ =g e perpendicular, then find
the value of 9u + 4A. -
| \-17=0
A—2=N-) — 2—¢% e (3 "0* 2 (Zﬁ+ ‘5’,’»
3 A —)\ _
ITRE oprdr=¢ <
A— — —
2 . N \4- iy z“\
I T

P
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A rectangle ABCD with ABCD with AB = 2 and BC = 4 is inscribed in rectangle
PQRS such that vertices of ABCD lie on sides of PQRS, then maximum
possible area (in sq. unit) of rectangle PQRS is ~

A) o c
B) 20 b ¢

©) 18~ (e B
D) 12

Q
9 (as(a0-6) \ 2 (636
4 S\n6-+2C088)
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QCDQ&‘\—ZQ‘M 9> (ﬁ—gi no

+2C0s0)

%CO S5+ PN AT 2 5 (0SS \nY

\ é - \ 0% ® S
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Two lines passing through (2, 3) parallel to coordinate axes. A circle of unit
radius touches both the lines and lie on the origin side. Then the shortest
distance of point (5, 5) from the circle is

)

(’2,3) 4

¥
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If the length of focal chord !I 2=12x is @and if the distance of the focal

chord from origin i@ the 4ae1a R

=40 Coseco
X = |2 Cosec®
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21{’) L)
If a € R and |2a - 1| < 3[a] + 2{a}, here [x] represents gret‘;t\igteger value

VS
PAPER DISCUSSION

of x and {x} represents fractional of x, then find the value of\72a_;\ 72 (J“:) -_-

lo_a——\\ L0+ al [a)>-] o (

| R B a7l 17
\X\/\k'¥>?ﬁ Q(L qét',ﬁ"/\_)

IRl ~2a4\ c2aslal @Yy

{Q] 7 \ “4\-0&_
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If the 2x + 3y - k = 0 is a curve which intersects axis at points 4 and B. A circle
is drawn through A and B as diameter has equation x? + y2 - 3x -2y = 0. Then
the latus rectum of ellipse x% + 9y? = k? is L, then 3L is equal to ol }/(4 /

5 @’ké) X1+ Yz".’f LS8 %7: 0
2
k/ = 3' KZG
A 2
(%) Y49y=3¢ p %
GG\ Lavgzt /o
5
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If the t}@ period of a penduh@at helgh (where R is radius of earth) from surface of

earth i and at helght i then
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A point source of light is placed at focus of converx lens, then what is the shape of
N\ ™,
wavefront after passing through the lens

‘Q
%~
Xy
o= |
®
-
[
/

/
-

\ ™S

¢ / \V;
@ elliptical
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Match the columns. _ (&M
Column I Column II \)3 -\l L { 7-3 AN
(i) Escape Velocity ->4£a) VEr qu—l:‘l—
(i) Orbital Velocity b) \/2ar Vs = = = 2 3‘(
(iii) Gravitation PE ~———p(c) — = \
GM, M,

(iv) Total Energy ———=(d) -
@, - @ ) - (©); (i) - (); (v) - (b)

(i) - (b); (i) - (a); (iii) - (c); (iv) - (d)
@ (i) - (c); (ii) - (d); (iii) - (a); (iv) - (b)

® - o) )- (@) i) - ©: (V) - @
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= 2 s QLU
Find the current through the battery. ?e% = 12+ 4

@ LB
1 amp Reg
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Find dimension of /Gu, where G is universal gravitational constant and p is energy density.
N N e —

lap - V‘-""]W s G,

[ /AI : M ;"T"a @mﬂ [&] - D‘(‘ L.“\‘"‘]
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n?
In YDSE setup, wavelength = 50004, d = 3 g1, D = 20 cm then position of 3 maxima ?

e —— -

2
AAD /gx Sevo 215 x .’im\y({

Ky“
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There is a pulley mass system, find tension in the string as shown in figure,

— \0\
@ a4 N T - fﬂ.m.ga Hosed
— 180 = A
(B) 62N T
T = 120 +24

2 m/s’
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Find effective voltage across capacitor

= | ,3G‘DL-\-<5€°““) B

Z = Sonia
—_ New 4

'LM': Z S

\/c - —r\msx‘- :

'
ZS‘A

8 =
ey

‘Au

)\: | SRRLBRIG
Y Yo

- | 6v%|
300 20uF  1H o YN N

V¢

S

V = 4072 sin(1001t)
)
\Y,

o
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Find ratio of electrostatics force and gravitational force between electron and proton.

o  LE @

© v e 97L
© 1w

©® 0%
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.MR
[f the ratio of radius of gyration of hollow sphere and solid cylmder about the axis' &

-
R

as shown in the figure is \[— Then value of x is: / ?\ ’6 -

& N e l K \ %‘

T : dm R - d"\'& Hallow Sphere : % . '

Z z ¢
“ lemR" L A& R ?ﬁ ()
r%&,, 3 ra R ghc\w?\“

N S S N \
(3+64)MR 4 e . dmR>
|2 - Q&L* ‘a& T.tmR T 4

ﬂ.m&" “ 3 4 3
|2 . Q_Q_L r (SR R & 2 aR"
- <\ P % 3 % \ v )
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An ideal gas undergoes a cyclic process given in the P- V curve. Find work done by gas in

the given cyclic process. -

r—- -
320- 8o 4

= KA N
| 320

a 3 - € P(kp;l)
- 1\‘(\20) X\0 » |0
80

- R X \‘-\47\\”"

'f\r,
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For the given two graphs between stopping potential and frequency of incident

light. h{ - ¢ T €V
h/ R\ £
Statement-1: Slope is given by \/s = \€ .\C e

Statement-2: Comparison of kmetlc energy (K, > Kz) at ConStant frequency. /

@Botb statements are correc}/ v
S

Both statements are incorrect.

@ Statement-1 is correct, Statement-2 is incorrect.

@ Statement-2 is correct, Statement-1 is incorrect.
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The correct relation between kinetic energy (K.E) and total energy (T.E) of satellite

orbiting around the planet is
- & = ‘T €|

K.E = |T.E]|
-+ @Eve e

N
KE =2 |T.E]|

+

© «xe-mey _*_—'i_ﬁw:c
@

@ IT.E| =3 K.E //B,- ic -

P —
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Two concentric conducting rings of radius a and b are placed as shown in diagram (a < < b).
Find coefficient of mutual inductance of rings.

ﬁ;

ﬂo"bz
S
Onaz ¢ - %.:’SO\ N
2b ¢ =: °I \‘RQ“
@ 25 _ A4
. = M. 71

woa>
2mth?
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If a partlclth constant acceleratno nd the ratio of distance covered
b artlcle 1 o the distance convered |

Sn.. *J
m‘z)a\ (ﬂ ')G‘ __.a‘f\&
—l———————f-———-—"" %
P f -\ . gm" -z.)a/;(n )«M
\MN‘
m-')“ n1=
_ @4

(Qn-'s)/(



710 N
JEE MAIN 2024 = -~ PAPER DISCUSSION
5
There is a conducting wire of radiu whose resistance is givenow radius is

halved keeping the length of wire sam®&; Then find the resistance of new wire.

“ i : -
A:T\\j Q ?2 LTl

A
4
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Statement-1: Capillary tube is inserted in liquid and the level of liquid does not rise or fall then
contact angle may be 0°
Statement-2: Contant angle depends on property of liquid and soliy

Statement-1 and statement-2 both are correct but 2" statements is not correct
explanation of 1 t statement.

Statement-1 and Statement- 2 Hoth are correct but 2nd statements is correct
explanation of 1t statement.

Statement-1 is correct and Statement-2 is wrong.

Statement-1 is incorrect and Statement-2 is correct.

@0 @ &
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£t o
Three helium atoms frg& carbon at high temperature due to fusion. Masses of helium and

carbon nuclei a.m.u are 4.0002 and 12 respectively. Find energy released in the process.

HU = (_mng‘mﬁ_,l <™




JEE MAIN 2024 =+ PAPER DISCUSSION

There is a two block system placed on a platform which is moving downward with an
acceleration of 2 m/s? then find the normal force on block by the platform.

N\
76 - N = JorL ¢ E N
N = 7&='4° '|.20ke |-
| 1.a|=2ms2
S, [
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In YDSE for wavelengthi A = 5000 A) slit distance d@n‘i}nd screen distance o@he

intensity at a point which is 3 cm away from central maxima (assume intensity of light for
each source is I,) is xlythen xis ¢

= 3 &T.
d 3n|o‘ﬂmo
Poth & of P 'ag ey ?ﬁr' !
- i\\b‘g Tg XN
a
‘ { - = - - =9'a
Phdiff > AT 9 TR e
LK— .&\;'BAX y ?Tﬂ.\xw‘“ =
z
T 1Qe7
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